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B.B.A./B.COM.I.S.M. DEGREE EXAMINATION, APRIL 2017.
I YEAR — II SEMESTER
MAJOR PAPER III — BUSINESS MATHS
Time : 3 hour	    Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)
Answer any TEN questions.
1. Define Finite Set.
2. Define Function.
3. Given, A = {1,2,3,4,5} & B =   {1,3,5,7}, Find 
4. Given that find m so that 
5. Find the distance between the points (4,7) and (-2,5).
6. Find the slope of the line 
7. If A =          and B =         . Find A+B.
8. Find the simple interest on `5,000 at 10% for 3 years, Find also the amount.
9. Mention the two kinds of bills under Discount on Bills.
10. In how many ways can 5 books be arranged on a shelf?
11. If A = {a,b,c,d,e} and B = {a,c,e,g}, find 
12. Write the formula for Simple interest and Compound interest.
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.
13. In a survey of 5000 persons, it was found that 2,800 read Indian Express and 2,300 read statesman while 400 read both papers. How many read neither Indian Express nor statesman?
14. If A = {1,4}, B = {4,5}, C = {5,7}Find (i) and            
15. Given and and . Check whether
16. Show that the points (6,6), (2,3) and (4,7) are the vertices of a right angled triangle.
17. Find the inverse of 
18. There is a letter lock with 3 rings each marked with 5 letters and do not know the keyword. How many different useless attempts may be made to open the lock?
19. If 
 (
[P.T.O.]
)
SECTION C — (2 × 15 = 30 marks)
Answer any TWO questions.
20. Out of a group of 50 teachers in a High school 30 teach Mathematics, 20 teach English and 25 teach Science. 10 teach both Mathematics and Science, and none teach Mathematics and English. 
a) How many teach Science and English?
b) How many teach only English?
21. The simple interest on a certain principal for 5 years is `360 and the interest is  of the principal. Find the principal and the interest rate.
22. X invests `100 at the end of 1981, `200 at the end of 1982, `300 at the end of 1983, `400 at the end of 1984 and `500 at the end of 1985. If interest is compounded at 10% per annum what would be the amount of his investment at the end of 1986?
23. For the matrices
A =         B =             and  C =          Find a) 4A+2B  and   b) 3A-B-2C.
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